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MODULE 2: FRACTIONS

Arahan:
1. Modul ini mengandungi tiga puluh soalan. Semua soalan adalah dalam bahasa Inggeris.

2. Modul merangkumi lima konstruk yang diuji


K3 - Memahami istilah matematik dalam bahasa Inggeris


K5 - Menguasai konstruk pengetahuan

K6 - Menguasai konstruk kefahaman

K7 – Menguasai konstruk kemahiran


K10 – Memahami pengajaran dan pembelajaran dalam bahasa Inggeris

3. Murid hendaklah menulis maklumat diri dalam kertas jawapan objektif disediakan. Murid juga perlu memastikan maklumat konstruk, nombor soalan dan jumlah soalan seperti yang dibaca oleh guru di dalam ruangan disediakan dalam kertas jawapan objektif sebelum ujian.

4. Bagi soalan objektif, anda perlu menandakan jawapan dengan menghitamkan pilihan jawapan pada pilihan jawapan A , B , C atau D pada kertas jawapan objektif.
Contoh:

Antara berikut, yang manakah haiwan?

A.
Pokok

B.
Kambing
C.
Kereta

D.
Pen
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5. Untuk soalan subjektif, jawapan hendaklah ditulis pada kertas berasingan yang disediakan oleh guru.

6. Jawab semua soalan.

Modul ini mengandungi 17 halaman bercetak 
1
Which of the following is  an improper fraction?

A
  eq \f(3,8) 
              B
  eq \f(9,8) 
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2   
 Which mixed number has the largest value?

A
3 eq \f(1,5)   

B
3 eq \f(2,5) 
C
3 eq \f(2,5) 
D        3 eq \f(3,5) 
3 
Arrange these mixed numbers in descending order.


         
   3 eq \f(2,5) ,   3 eq \f(1,5) ,   2 eq \f(3,5) ,  2 eq \f(4,5) 
	A
	3 eq \f(2,5) ,  3 eq \f(1,2) , 2 eq \f(4,5) , 2 eq \f(3,5) 


	B
	3 eq \f(1,5) ,  3 eq \f(2,5) , 2 eq \f(3,5) ,  2 eq \f(4,5) 


	C
	2 eq \f(3,5) ,  2 eq \f(4,5) ,  3 eq \f(1,5) ,  3 eq \f(2,5) 


4      Which of the fractions represents the shaded parts?



	A
	 eq \f(13,18) 


	B
	 eq \f(13,5) 


	C
	2 eq \f(1,5) 


	D
	2 eq \f(1,6) 



5 Which of the following represents 2 eq \f(1,4) ?

	A
	

	B
	

	C
	

	D


	


6
10 eq \f(3,5)  multiply by 150  is the same as 

	A
	 eq \f(53,5)  x 150



	B
	 eq \f(35,5)  x 150



	C
	 eq \f(30,5)  x 150



	D
	 eq \f(13,5)  x 150


7         How to calculate   eq \f(5,6) 

 eq- \f (5,6 ÷ 25)   ÷  25 eq- \f ( 25 )  ? 

	A
	 eq \f(5,6)  ÷   eq \f(1,25) 


	B
	 eq \f(5,6)   x   eq \f(1,25) 


	C
	 eq \f ( 6,5)   x   eq \f(1,25) 


	D
	 eq \f ( 6,5)  ÷   eq \f(1,25) 



8
 eq \f(2,3)   of  42 pupils like reading. 

           Which of the following is the correct method to calculate?        

	A
	 eq \f(2,3)  ÷  42



	B
	  eq \f(2,3)  x  42



	C
	 eq \f(126,3) 


	D
	 eq \f(84,3)  


9
 2 eq \f(1,4)   x               = 180

      
What is Q?

	A
	Q = 180  ÷ 4 eq \f(1,2) 


	B
	Q =  180  ÷   eq \f(4,9) 


	C
	Q =  180  x   eq \f(9,4)  



	D
	Q =  180  x   eq \f(4,9) 



10
 eq \f(3,8)   of  RM4 936 =               

	A
	RM1 518



	B
	RM1 851



	C
	RM5 181



	D
	RM8 151




11  
  7 eq \f(1,5)    −   2 eq \f(1,10)   −   1 eq \f(1,2)   =                                              

	A
	4 eq \f(1,10) 


	B
	3 eq \f(3,5) 


	C
	4 eq \f(3,5) 


	D
	 3 eq \f(2,5) 



12
Find the value of  7 eq \f(3,4)  −  4 eq \f(1,3)  −  1 eq \f(1,6) . 

     
Express the answer in the simplest form.

	A
	2 eq \f(1,3) 


	B
	2 eq \f(1,4) 


	C
	3 eq \f(1,6) 



13       5 eq \f(1,7)   divide  by 4  is equal to 

	A
	1 eq \f(1,7) 


	B
	1 eq \f(2,7) 


	C
	5 eq \f(1,7) 


	D
	5 eq \f(2,7) 


14
The diagram shows a number line


  P
    Q


  R



              1 eq \f(2,7)     1 eq \f(3,7) 
What is the sum of  P, Q  and R?

	A
	2 eq \f(5,7) 


	B
	3 eq \f(5,7) 


	C
	4 eq \f(5,7) 


15
The diagram shows the length of three ribbons.
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      Find the total length of the ribbons.

	A
	6 eq \f(5,20)  m



	B
	6 eq \f(9,20)  m



	C
	5 eq \f(5,20)  m



	D
	7 eq \f(9,20) m




16
Puan Rozi made  3 eq \f(2,5)  kg  of  chocolate cake,  2 eq \f(3,5)  kg of pandan cake 


and  4 eq \f(1,5)  kg of orange cake. 


Calculate the total mass of the cakes.

	A
	9 eq \f(1,5)  kg



	B
	9 eq \f(2,5)  kg



	C
	10 eq \f(1,5)  kg



	D
	10 eq \f(2,5)  kg


17
The table shows the length of  ropes  X , Y, and Z.

	Rope
	X
	Y
	Z

	Length ( m )
	2 eq \f(3,5) 
	3 eq \f(1,2)  


	4 eq \f(1,4)  


            Find the total length of the ropes.

	A
	5 eq \f(6,10)  m



	B
	5 eq \f(7,10)   m



	C
	7 eq \f(9,20)   m



	D
	10 eq \f(7,20)  m


18
Mr. Lim bought   3 eq \f(1,2) kg of  beef,  1 eq \f(7,8)  kg of chicken and  2 eq \f(3,4)  kg of mutton. 


How many kilograms of  meat did he buy altogether?

	A
	8 eq \f(1,2) 


	B
	8
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	C
	8 eq \f(1,8) 


19
What must be added to 2 eq \f(3,7)  to make 10 ?
	A
	12[image: image6.wmf]


	B
	8 eq \f(3,7) 


	C
	7 eq \f(4,7) 


	D 
	7 eq \f(3,7) 



20 
Find the missing number.

9 eq \f(1,2)   −   


 −  4 eq \f(1,4)   =  3 eq \f(1,2) 
	A
	1 eq \f(1,4)   



	B
	1 eq \f(3,4) 


	C
	2 eq \f(1,4) 


	D
	2 eq \f(3,4) 



21
Divide   eq \f(3,5)   by   eq \f(1,3) 
	A
	1 eq \f(1,3) 


	B
	1 eq \f(3,5) 


	C
	1 eq \f(4,5) 



22
What is the quotient when  eq \f(8,9)   ÷   eq \f(2,3)  ?

	A
	 eq \f(1,3) 


	B
	 eq \f(2,3) 


	C
	1 eq \f(1,3) 


	D
	1 eq \f(2,3) 



23
6 eq \f(3,5)  m of string is cut into 3 equal parts .


What is the length of each part?

	A
	9 eq \f(3,5)   m



	B
	6 eq \f(3,8)   m



	C
	5 eq \f(3,5)  m



	D
	2 eq \f(1,5)   m


24
A pail is filled with 6 eq \f(1,2)  
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  of water. Two other pails are filled with 4 eq \f(3,4) 
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 and  3 eq \f(1,2) 
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 of water. 


What is the total volume of water?

	A
	13[image: image10.wmf]l




	B
	13[image: image11.wmf]l




	C
	14[image: image12.wmf]l

 



	D
	14[image: image13.wmf]l

 


25       Encik Amar used  1 eq \f(1,3)  m  of blue cloth, 2 eq \f(1,3)  m of white cloth and  4 eq \f(3,5) m of red cloth to make a flag. 


Calculate the total length of blue and red cloth, in metre. 

	A
	3 eq \f(2,3) 


	B
	5 eq \f(14,15) 


	C
	6 eq \f(14,15) 


	D
	8 eq \f(4,15) 


26
Puan Liza bought  9 eq \f(1,2) kg  of flour . She used 2 eq \f(1,5)  kg to bake a cake and  1 eq \f(3,5)  kg to make some cookies. 


What was the mass of flour left?

	A
	5 eq \f(7,10)  kg



	B
	6 eq \f(7,10)  kg



	C
	 7 eq \f(7,10)  kg



	D
	8 eq \f(7,10)  kg


27
A bottle contains 4 eq \f(1,2)  
[image: image14.wmf]l

 of syrup. Ahmad drinks 1 eq \f(3,4) 
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 of the syrup and her friend drinks  1 eq \f(1,2) 
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 of it.  


How much syrup is left?

	A
	1[image: image17.wmf]l




	B
	2[image: image18.wmf]l




	C
	6[image: image19.wmf]l




	D
	6[image: image20.wmf]l




28
A shopkeeper had 350 bags of sugar. He sold    eq \f(4,5)   of the sugar. 


How many bags of  sugar were left?

	A
	70



	B
	280 



	C
	354



	D
	355




29        Anita has 150 stamps. Hasni`s stamps is  3 eq \f(1,5)  times more than Anita’s 
       stamps.


       How many stamps do they have altogether?                                                                                    
	A
	450

	B
	480

	C
	530

	D
	630


30         Mrs Leela makes 5 eq \f(2,3) 
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 of apple juice. She divides it into several glasses           of   eq \f(1,6) 
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 . 


  How many glasses of apple juice are there?

	A
	30

	B
	32

	C
	33

	D
	34



   Modul:                               2
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